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A golf ball is projectal fom poim A os ke jop of
elewmied ground I sudies high wilh & speed of 3imés
and al anangle o < 30° 1o the borizondal, siming La
reach & point C an tap of a hill
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QUESTION 7 {12 MaARKS)

The diagram shows a strarght road BC running due East. A
four-wheel drive ambulance is in open counrry &t &, 3 km due
South of B It must reach C, 9 km East of B, &5 quickly & poasible

The deiwer knows that she can travel &l B0 km per howr in open
country and @ 100 km per hour alomg the road. She miends o
proceed m a seraght ling 10 some point P on the read and then
T coetenise alang the foad 1a C. She wishes to choose P sa that
toaal tomee for the joumney APC is & minimam.

fah ITike distance BP is x km, derive an expression for ox), the
tutal joummey tnne from Ao O via P, im berms of x,

(b} Show that the minimum time for the lotal journey APC is
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